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Direction:

Read the following passage and answer the questions accordingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible
pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.
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e Question No.1
How does sustainable agriculture aim to balance the needs of the present and future generations?
Options:

1. By maximizing short-term profits

2. By depleting soil nutrients

3. By minimizing environmental impact
4. By relying on chemical fertilizers

5. By promoting monoculture
Answer : By minimizing environmental impact

Direction:

Read the following passage and answer the questions accor dingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.
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Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

Question No. 2

How does sustainable agriculture differ from traditional farming practices regarding the use of pesticides and

herbicides?
Options:

1. By using chemical inputs extensively

2. By avoiding any use of pesticides

3. By relying solely on natural predators

4. By implementing integrated pest management (IPM) strategies

5. By encouraging the use of synthetic pesticides
Answer : By implementing integrated pest management (IPM) strategies

Direction:

Read the following passage and answer the questions accordingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.
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One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can
contribute to a more environmentally friendly and socially equitable food system.

Question No. 3

Choose a word that is similar to HOLISTIC as used in the passage.

Options:

1. panoramic

2. limited
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3. fugitive
4. partial

5. doubtful
Answer : panoramic

Direction:

Read the following passage and answer the questions accordingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.
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In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

Question No. 4
Why is soil health considered a fundamental aspect of sustainable agriculture?
Options:

1. Because it maximizes short-term profits

2. Because it depletes water resources

3. Because it reduces environmental impact

4. Because it supports productive and sustainable farming

5. Because it promotes monoculture
Answer : Because it supports productive and sustainable farming

Direction:

Read the following passage and answer the questions accordingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like

intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
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and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

Question No. 5

Why does sustainable agriculture prioritize the well-being of farmworkers and rural communities, and how does it

contribute to social sustainability?
Options:

1. Because it promotes unfair labor practices

2. Because it ignores the safety of farmworkers

3. Because it discourages equitable access to resources

4. Because it supports local economies and community engagement

5. Because it promotes monoculture
Answer : Because it supports local economies and community engagement

Direction:
Read the following passage and answer the questions accor dingly
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Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

e Question No. 6



0D
ixam Pees @

Fill in the blank 6 as given in the passage.
Options:

1. hoping

2. deaccelerates
3. focuses

4. dismiss

5. promises
Answer : focuses

Direction:

Read the following passage and answer the questions accordingly

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm

the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
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farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible
pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

Question No. 7

Which of the following sentences is incorrect based on the information in the passage about sustainable

agriculture?
Options:

1. Sustainable agriculture aims to meet the needs of the present generation without compromising the
ability of future generations to meet their own needs.

2. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture.

3. Traditional farming methods often involve excessive water usage, which can lead to water scarcity and
environmental degradation.

4. Sustainable agriculture relies heavily on chemical inputs like synthetic fertilizers and pesticides to increase
crop yields.

5. Sustainable agriculture promotes fair labor practices, safe working conditions, and equitable access to

resources, contributing to the overall social sustainability of farming regions.

Answer : Sustainable agriculture relies heavily on chemical inputs like synthetic fertilizers and pesticides to increase

crop yields.

Direction:
Read the following passage and answer the questions accordingly



0D
ixam Pees @

Sustainable agriculture is a farming practice that aims to meet the needs of the present generation without
compromising the ability of future generations to meet their own needs. It is aholistic approach to farming that
considers the environmental, social, and economic aspects of food production. Sustainable agriculture seeks to
minimize the negative impact of farming on the environment while ensuring the long-term viability of agricultural

systems.

One of the key principles of sustainable agriculture is soil health. Healthy soil is essential for productive and
sustainable farming. Sustainable farmers focus on building and maintaining soil fertility through practices such as
crop rotation, cover cropping, and the use of organic matter like compost and manure. These practices help
improve soil structure, water retention, and nutrient content, reducing the need for synthetic fertilizers and
pesticides. In addition to soil health, sustainable agriculture promotes biodiversity. Monoculture, the practice of
growing a single crop over a large area, is known to deplete soil nutrients and increase the risk of pests and
diseases. Sustainable farmers encourage biodiversity by planting a variety of crops and using techniques like
intercropping and polyculture. This not only enhances soil health but also provides habitats for beneficial insects
and wildlife. Water conservation is another crucial aspect of sustainable agriculture. Traditional farming methods
often involve excessive water usage, which can lead to water scarcity and environmental degradation. Sustainable
farmers employ techniques like drip irrigation, rainwater harvesting, and water-efficient crop selection to minimize

water wastage and protect local water resources.

Sustainable agriculture also emphasizes the responsible use of pesticides and herbicides. Chemical inputs can harm
the environment, contaminate water sources, and pose health risks to farmworkers and consumers. Sustainable
farmers opt for integrated pest management (IPM) strategies that rely on natural predators, crop rotation, and
resistant crop varieties to reduce the need for chemical interventions. Furthermore, sustainable agriculture values
the well-being of farmworkers and rural communities. It promotes fair labor practices, safe working conditions, and
equitable access to resources. By supporting local economies and fostering community engagement, sustainable

agriculture contributes to the overall social sustainability of farming regions.

In conclusion, sustainable agriculture is a holistic approach to farming that seeks to balance the needs of the

present with the needs of the future. It 6 on soil health, biodiversity, water conservation, responsible

pesticide use, and the well-being of farmworkers and communities. By adopting sustainable practices, farmers can

contribute to a more environmentally friendly and socially equitable food system.

e Question No. 8
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Choose a word that is opposite in meaning to CRUCIAL as mentioned in the passage.
Options:

1. pivotal

2. insignificant
3. critical

4. pessimistic

5. essential
Answer : insignificant

Direction:

In the following questions, some part of the sentence is highlighted in bold. Which of the options given below the
sentence should replace the part printed in bold to make the sentence grammatically correct? If the sentenceis
correct asit isgiven then choose option E ‘No Correction required’ astheanswer.

Question No. 9
Rohit said that businesses will have to strive for top performance and willbe hold accountable.
Options:

1. hold accounts

2. hold accounting

3. be held accountable
4. be held accounted

5. No correction required
Answer : be held accountable

Direction:

In the following questions, some part of the sentence is highlighted in bold. Which of the options given below the
sentence should replace the part printed in bold to make the sentence grammatically correct? If the sentenceis
correct asit isgiven then choose option E ‘No Correction required’ asthe answer.

e Question No.10
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Banks are exploring the feasibility of incorporating blockchain solutionsfor doing payment processes faster,

cheaper, and more transparent.
Options:

1. with a view to make
2. accepting payments
3. getting payment
4. in order to make

5. No correction required
Answer : in order to make

Direction:

In the following questions, some part of the sentence is highlighted in bold. Which of the options given below the
sentence should replace the part printed in bold to make the sentence grammatically correct? If the sentenceis
correct asit isgiven then choose option E ‘No Correction required’ asthe answer .

Question No. 11
It has been proved beyond reasonable doubt that the planning of the attack originated fromforeign space
Options:

1. Foreign particulars
2. Foreign soil

3. Foreign sky

4. Foreign waters

5. No replacement required
Answer : Foreign soil

Direction:

In the following questions, some part of the sentenceis highlighted in bold. Which of the options given below the
sentence should replace the part printed in bold to make the sentence grammatically correct? If the sentenceis
correct asit is given then choose option E ‘No Correction required’ asthe answer.

e Question No. 12
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Violent protests broke up due to the killing of the innocent school students by the militants.
Options:

1. Invented
2. Erupted

3. Suffered
4. Attacked

5. No correction required
Answer : Erupted

Direction:

In each question below, four words printed in bold type are given. These are numbered (A), (B), (C) and (D). One
these words printed in bold might either be wrongly spelt or inappropriatein the context of the sentence. Find out
theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer. If thewords
printed in bold are correctly spelt and appropriatein the context of the sentence then mark (E), i.e. 'All Correct’, as
your answer

Question No. 13

Measured in terms of life expectancy, particulate pollution is the greatest thrate to human health in India, taking 5.3

years off the life of the average Indian, the report said.
Options:

1. expectancy
2. pollution

3. thrate

4. average

5. all are correct
Answer : thrate

Direction:

In each question below, four words printed in bold type are given. These are numbered (A), (B), (C) and (D). One
these words printed in bold might either be wrongly spelt or inappropriatein the context of the sentence. Find out
theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer. If the words
printed in bold are correctly spelt and appropriatein the context of the sentence then mark (E), i.e. 'All Correct’, as
your answer
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e Question No. 14

What makes the 2019 election unprecedented is not that inappropriate words were used and misinformation

spread, but the fact that India witnesses an increasing tendency to normalise these.
Options:

1. Unprecedented
2. Inappropriate
3. Misinformation
4. Witnesses

5. All are correct
Answer : Withesses

Direction:

In each question below, four words printed in bold type are given. Theseare numbered (A), (B), (C) and (D). One
these words printed in bold might either be wrongly spelt or inappropriatein the context of the sentence. Find out
theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer. If thewords
printed in bold are correctly spelt and appropriatein the context of the sentencethen mark (E), i.e. 'All Correct’, as
your answer

e Question No. 15

The greatest acheivement of modern medicineshas been to save us from premature death and allow us to enjoy

the full measur e of our years.
Options:

1. Acheivement
2. Medicines

3. Premature

4. Measure

5. All are correct
Answer : Acheivement

Direction:

In each question below, four words printed in bold type are given. These are numbered (A), (B), (C) and (D). One
these words printed in bold might either be wrongly spelt or inappropriatein the context of the sentence. Find out
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theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer. If the words
printed in bold are correctly spelt and appropriatein the context of the sentence then mark (E), i.e. 'All Correct’, as
your answer

Question No. 16

There is no daubt that creative industries along with care activities, are going to emerge as some of the most

significant economic sectors of the future.
Options:

1. daubt

2. industries
3. emerge

4. significant

5. all are correct
Answer : daubt

Direction:

In the following passage, some of the wor ds have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blanks with the appropriate wor d/sentence to
make the paragraph meaningful.

When | was a little boy, my neighbour’s son ___17___ to England for an exam and returned after ____18___

Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way

he talked—everything—made me ___19___ to go to England and return like him. As | grew older, this ____20___

formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to

England that right through school | was the class topper: a model student in school. There was no one who did not
22 me in high regard in school and at home.

Question No. 17
Fill in the blank 17
Options:

1.go

2. brought
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3.gone
4. managed

5. went
Answer : went

Direction:

In the following passage, some of the wor ds have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blanks with the appropriate wor d/sentence to
make the paragraph meaningful.

When | was a little boy, my neighbour’s son 17 to England for an exam and returned after 18
Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way
he talked—everything—made me 19 to go to England and return like him. As | grew older, this 20

formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to
England that right through school | was the class topper: a model student in school. There was no one who did not
22 me in high regard in school and at home.

Question No. 18
Fill in the blank 18
Options:

1. toured
2. touring
3. eloping
4. survived

5. survival
Answer : touring

Direction:

In the following passage, some of the wor ds have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blankswith the appropriate wor d/sentence to
make the paragraph meaningful.

When | was a little boy, my neighbour’s son 17 to England for an exam and returned after ____18_

Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way
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he talked—everything—made me ___19___ to go to England and return like him. As | grew older, this ____20___
formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to
England that right through school | was the class topper: a model student in school. There was no one who did not

22 me in high regard in school and at home.

Question No. 19
Fill in the blank 19
Options:

1. curiosity
2.irritate
3.long
4.longed

5. desiring
Answer : long

Direction:

In the following passage, some of the words have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blankswith the appropriate wor d/sentence to
make the paragraph meaningful.

When | was a little boy, my neighbour’s son 17 to England for an exam and returned after 18

Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way
he talked—everything—made me ___19___ to go to England and return like him. As | grew older, this ____20___
formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to
England that right through school | was the class topper: a model student in school. There was no one who did not
22____mein high regard in school and at home.

Question No. 20
Fill in the blank 20
Options:

1. desire
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2. interesting
3. pessimistic
4. way

5. process
Answer : desire

Direction:

In the following passage, some of the wor ds have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blanks with the appropriate wor d/sentence to
make the paragraph meaningful.

When | was a little boy, my neighbour’s son ___17___ to England for an exam and returned after ____18___
Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way
he talked—everything—made me 19 to go to England and return like him. As | grew older, this 20

formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to
England that right through school | was the class topper: a model student in school. There was no one who did not
22____ mein high regard in school and at home.

Question No. 21
Fill in the blank 21
Options:

1. fierced
2. strongness
3. bewildered
4. fierce

5. futile
Answer : fierce

Direction:

In the following passage, some of the wor ds have been left out, each of which has been indicated by a digit. Find the
suitable word from the options given against each digit and fill up the blankswith the appropriate wor d/sentence to
make the paragraph meaningful.
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When | was a little boy, my neighbour’s son ___17___ to England for an exam and returned after ____18___
Europe. Thereafter, the respect the villagers gave him, his car, his fashionable clothes, the way he walked, the way
he talked—everything—made me ___19___ to go to England and return like him. As | grew older, this 20

formed in my childhood, became stronger, instead of being forgotten. So ___21___ alonging it was to go to

England that right through school | was the class topper: a model student in school. There was no one who did not

22 me in high regard in school and at home.

Question No. 22
Fill in the blank 22
Options:

1. held
2.hand

3. hold

4. support

5. handling
Answer : hold

Direction:

In the questions given below, a sentence has been broken down into four fragmentslabeled (A), (B), (C) and (D) and
arranged, not necessarily in the correct order. You haveto find the correct order of arrangement from the options
given below. In case, the sentenceiscorrect initsoriginal form, please select (E) as your answer .

Question No. 23

desire to fight corruption and (A)/ a government that is sincere in its (B)/ injustice must protect whistleblowers (C)/

rather than prosecute them (D)
Options:

1. BACD
2.BDCA
3.DCAB

4.CABD
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5. No rearrangement required
Answer : BACD

Direction:

In the questions given below, a sentence has been broken down into four fragmentslabeled (A), (B), (C) and (D) and
arranged, not necessarily in the correct order. You haveto find the correct order of arrangement from the options
given below. In case, the sentenceiscorrect in itsoriginal form, please select (E) asyour answer.

Question No. 24

The Cape Town crisis should be a (A)/ wake-up call to India about (B)/ the existing and future water emergency (C)/

that many parts of the country do and will face (D)
Options:

1. CBDA
2. ACDB
3.DBAC
4.BCAD

5. No rearrangement required
Answer : No rearrangement required

Direction:

In each of the following questions, a word has been given and used in four statements. Y ou ar e supposed to identify
which statement usestheword correctly and mark that asyour answer .

Question No. 25

SEIZE

l. Their house was seized by the bank for non-payment.

II. The river flowed aimlessly off the seize towards the city.

IIl. We probably overestimated the seize of the problem.

IV. For this to happen it will take a cultural change of seize proportions.

Options:
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1. Only |

2.only ll
3.only llI
4.only IV

5. all are correct
Answer : Only |

Direction:

Directions: The sentence below isdivided into four parts, one of which may contain an error. Mark the part
containing the error asyour answer if all elements are grammatically and contextually correct, mark (e) No error
asyour answer

Question No. 26

High-frequency indicators (1)/ in India reflect a reselient (2)/ economy with improving (3)/ earnings prospects (4)/

No error (5)
Options:

1.3
2.2
3.5
4.1

5.4
Answer: 2

Direction:

Directions: The sentence below isdivided into four parts, one of which may contain an error. Mark the part
containing the error asyour answer if all elements are grammatically and contextually correct, mark (e) No error
asyour answer

Question No. 27
Because everyones’ (1)/ body is different,(2)/ side effects from medications (3)/ may greatly vary (4)/ No error (5)

Options:
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1.1

2.2
3.3
4.4

5.5
Answer : 1

Direction:

Directions: The sentence below isdivided into four parts, one of which may contain an error. Mark the part
containing the error asyour answer if all elements are grammatically and contextually correct, mark (e) No error
asyour answer

Question No. 28

Recently a number of (1)/ policemen was sentenced (2)/ to death for their complicity (3)/ in the murder (4)/ No

error (5)
Options:

14
2.5
3.1

4.3

5.2
Answer: 2

Direction:

Directions: The sentence below isdivided into four parts, one of which may contain an error. Mark the part
containing the error asyour answer if all elements are grammatically and contextually correct, mark (e) No error
asyour answer

Question No. 29
| have some work (1)/ to do and (2)/ so | will not be (3)/ able to accompany you (4)/ No error (5)

Options:
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1.3
2.4
3.1
4.2

5.5
Answer:5

Direction:

Directions: The sentence below isdivided into four parts, one of which may contain an error. Mark the part
containing the error asyour answer if all elements are grammatically and contextually correct, mark (e) No error
asyour answer

Question No. 30
After made me wait (1)/ for two hours the chief (2)/ called me in and (3)/ asked me what | wanted (4)/ No error (5)
Options:

1.1

2.5
3.4
4.2

5.3
Answer : 1

Direction:

Study the following pie chart carefully and answer the questions given beside. The pie chart given below showsthe
per centage distribution of the number of Female Staff in a Amazon company in five different Sectors.
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—= Prepare 50% Faster

Teotal number of Female employees=2100

u|T
= 3ales

H Product Analysis
w Customer Executive
Accountant

e Question No. 31

Find the difference between the total number of Female Staff in Sector IT and Accountant together and that in

Sector Customer executive?
Options:

1.126
2.129
3.135
4.144

5. None of these
Answer : 126

Direction:

Study the following pie chart carefully and answer the questions given beside. The pie chart given below showsthe
per centage distribution of the number of Female Staff in a Amazon company in five different Sectors.
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—= Prepare 50% Faster

Teotal number of Female employees=2100

u|T
= 3ales

H Product Analysis
w Customer Executive
Accountant

e Question No. 32

Suppose the ratio of the number of male to female staff in Sector Product analysis is 5:4, find the total number of

staff in Sector Product analysis in Amazon company.
Options:

1. 650
2.700
3.750
4.945

5. None of these
Answer : 945

Direction:

Study the following pie chart carefully and answer the questions given beside. The pie chart given below showsthe
per centage distribution of the number of Female Staff in a Amazon company in five different Sectors.
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—= Prepare 50% Faster

Teotal number of Female employees=2100

u|T
= 3ales

H Product Analysis
w Customer Executive
Accountant

e Question No. 33

Find the ratio of the number of Female staff in sector IT and Sales together to that in sector Product analysis and
Accountant together?

Options:

1.7:5
2.7:6
3.4:5
4.6:5

5. None of these
Answer:7:5
Direction:

Study the following pie chart carefully and answer the questions given beside. The pie chart given below showsthe
per centage distribution of the number of Female Staff in a Amazon company in five different Sectors.
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—= Prepare 50% Faster

Teotal number of Female employees=2100

u|T
= 3ales

H Product Analysis
w Customer Executive
Accountant

e Question No. 34

Suppose the total number of staff in sector Customer executive is 1200, find the number of male staff in sector

Customer executive.

Options:

1. 650
2.600
3.612
4.321

5. None of these

Answer : 612

Direction:

Study the following pie chart carefully and answer the questions given beside. The pie chart given below showsthe
per centage distribution of the number of Female Staff in a Amazon company in five different Sectors.
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—= Prepare 50% Faster

Teotal number of Female employees=2100

u|T
= 3ales

H Product Analysis
w Customer Executive
Accountant

e Question No. 35

Suppose 40% of the female staff in sector Product analysis in the company are married, find the number of female

staff in sector Product analysis who are not married.
Options:

1.200
2.252
3.255
4.236

5. None of these
Answer : 252

Direction:
Answer the questions based on the information given below.

The line graph given below shows the number of dogs and cats in six different stores.

Total number of pets = Number of dogs + Number of cats.
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—= Prepare 50% Faster

756
bb6
576
486
396
306
216

126
A B 5 D E F

=== Number of dogs ====Number of cats

e Question No. 36
What is ratio of total number of pets in store A to the same in store F?
Options:

1.33:23
2.26:23
3.23:26
4.71:78

5. None of these
Answer : 23:26

Direction:
Answer the questions based on the information given below.

The line graph given below shows the number of dogs and cats in six different stores.

Total number of pets = Number of dogs + Number of cats.
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—= Prepare 50% Faster

756
bb6
576
486
396
306
216

126
A B 5 D E F

=== Number of dogs ====Number of cats

e Question No. 37
What is the average number of dogs in store A, D and E together?
Options:

1.308

2.408
3.508
4.458

5. None of these
Answer : 408

Direction:
Answer the questions based on the information given below.

The line graph given below shows the number of dogs and cats in six different stores.

Total number of pets = Number of dogs + Number of cats.



V24
NIACL AO 2023 Prelims Previous Year Paper |xam.@

—= Prepare 50% Faster

756
bb6
576
486
396
306
216

126
A B 5 D E F

=== Number of dogs ====Number of cats

e Question No. 38
What is the difference between number of cats in store A and F together and number of cats in store C alone?
Options:

1.206
2.196
3.396
4.200

5. None of these
Answer : 396

Direction:
Answer the questions based on the information given below.

The line graph given below shows the number of dogs and cats in six different stores.

Total number of pets = Number of dogs + Number of cats.
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—=Prepare 50% Faster

756
bb6
576
486
396
306
216

126
A B 5 D E F

=== Number of dogs ====Number of cats

e Question No. 39

Out of total number of pets from store B and D together, 40% are sold. Find the number of pets in store B and D

together who are not sold.
Options:

1.3001

2.1080
3.2241
4.3641

5. 4241
Answer : 1080

Direction:
What approximate value should comein the place of Question mark(?)

e Question No. 40



ixam

(500/7)% of 49 +22.22% of 522 -16% of 210 + (17 x 14) =?
Options:

1.455.5
2.3554
3.655.7
4.9555

5. none of these
Answer : 355.4

Direction:

What approximate value should come in place of question mark (?) in the following question? (Y ou are not
expected to calculate the exact value)

Question No. 41
(15.98% of 399.99) - 6.998 = +/?
Options:

1.3249

2.2500
3.3364
4.2025

5. 4900
Answer : 3249

Direction:

What approximate value should comein place of question mark (?) in the following question? (You are not
expected to calculate the exact value)

Question No. 42
(8.013 - 25.04) =? + 11.98% of 2399.98

Options:

0(6
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1.-344
2.199
3.298
4.-481

5.174
Answer : 199

Direction:

What approximate value should comein place of question mark (?) in the following question? (You are not
expected to calculate the exact value)

Question No. 43
?=78224 +127697 - 4.992
Options:

1.2034
2.1610
3.1550
4.1419

5.2293
Answer : 2034

Direction:

What approximate value should comein place of question mark (?) in the following question? (You are not
expected to calculate the exact value)

Question No. 44

13.99% of 299.99+ 7.17=?+16.15
Options:

1.96
2.42

3.108

0(6
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4.60

5.160
Answer : 96

Direction:
What approximate value should comein place of question mark (?) in the following question? (Y ou are not
expected to calculate the exact value)

e Question No. 45

7.992 + (4.01 x 3.98) + ? = 224.03
Options:

1.144
2.200
3.120
4.102

5.172
Answer : 144

Direction:
What will comein the place of question (?) mark in following number series—

e Question No. 46
6, 20, 63,193, ?, 1758
Options:

1. 565
2.570
3.584
4.600

5. none of these
Answer : 584

Direction:

0(6



Find the value of (?) in the following number series.

e Question No. 47
12,72,77,308, 31, ?
Options:

1.600
2.622
3.524
4.876

5. none of these
Answer : 622

Direction:
Find thevalue of (?) in the following number series.

e Question No. 48
481, 497, ?, 558, 607, 671
Options:

1.876
2.500
3.522
4.990

5. None of these
Answer : 522

Direction:
Find thevalue of (?) in thefollowing number series.

e Question No. 49

12,7,9,22,96,7

ixam

0(6
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Options:

1.784
2.560
3.765
4.999

5. none of these
Answer : 784

Direction:
Find the value of (?) in the following number series.

e Question No. 50
18, 37, 75,151, 303, ?
Options:

1. 677
2.607
3.656
4.987

5. None of these

Answer : 607

e Question No. 51

The average weight of 5 students in a class is 25.8kg. When a new student joins them, the average weight increases

by 3.9kg. Then what will be the approximate weight of the new student?
Options:

1.75 kg
2.58kg

3.65 kg
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4.49 kg

5. none of these

Answer : 49 kg

e Question No. 52

Amit invested 'x' on simple interest at 12% for 7 years and (x + 400) on compound interest at 10% p.a for 2 years. At

the end of nine years, he will received a total interest of Rs.1,344 then find the value of 'x?
Options:

1. Rs.1200
2.Rs.1100
3.Rs.1001
4. Rs.1256

5. none of these

Answer : Rs.1200

e Question No. 53

In a company, there are either male or female employees. There are X% male employees in the company. The
number of female employees that are skilled are 20% of the total employees which is equal to number of unskilled

male employees. 40% of the total employees are unskilled. Find the percentage of male employees in the

company?
Options:

1.55
2.50
3.60
4.70

5.

Answer : 60
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e Question No. 54

A mixture contains 50% water and rest milk. 30 litres from the mixture is replaced with same quantity of milk. If the

ratio of quantity of milk to that of water in the resultant mixture is 7:4, then find the initial quantity of the mixture.
Options:

1.110 litres
2.121 litres
3.99 litres
4. 44 litres

5. None of these

Answer : 10 litres

e Question No. 55

A dealer marks his article 50% above the cost price and gives a discount of 20% on it. If he later marked his article

75% above the cost price and gave a discount of 20% on it then earlier profit is what % of the later profit?
Options:

1. 54%
2.56%
3.50%
4.60%

5.

Answer : 50%

e Question No. 56

Amit and Bishnu started a partnership by funding Rs. 8000 and Rs. 12000 individually. After four months, Amit take
out Rs.2000 & Bishnu funded Rs.3000 more. After three more months, Chinu joined the business with a capital of

Rs.10000. If at the end of year the entire profit is Rs.14900, then what will be the profit share of Amit is how much

more than that of Chinu.
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Options:

1.1000
2.1200
3.1500
4.2400

5. none of these

Answer : 1500

Question No. 57

Ishita is 0.5 times more efficient than Evita. If both of them work on alternate days starting with Ishita, they can
finish the work in 19 days. If Somil alone can complete the work in 48 days, then the number of days taken by Evita

and Somil together to complete the entire work.
Options:

1.10 days
2.12 days
3.16 days
4.26 days

5. None of these

Answer : 16 days

Question No. 58

A Train Rajdhani Express leaves Kanpur station at 6 am and reaches Lucknow station at 10 am. Another Train
Shatabdi Express leaves Lucknow station at 8 am and reaches Kanpur station at 11.30 am. Find the time when two

trains cross each other?
Options:

1.7.56 am

2.8.56 am
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3.8.59 am
4,816 am

5. none of these

Answer : 856 am

e Question No. 59

In a bag contains 4 one rupees coins and 3 five rupees coin. If two coins are drawn at random, find the probability

of getting a one rupee coin and a five rupee coin
Options:

1.1/7

2.3/7
3.4/7
4.2/7

5. none of these

Answer : 4/7

e Question No. 60

Cost of two types of pulses is Rs.12 and Rs, 17 per kg, respectively. If both the pulses are mixed together in the ratio

2:3, then what should be the price of mixed variety of pulses per kg?
Options:

1.Rs15
2.Rs14
3.Rs 21
4.Rs 27

5.Rs 28
Answer : Rs 15

Direction:
Answer the questions based on the information given below.



0D
ixam Pees @

In four different marketing agencies, there are two distinct roles within digital marketing: associates and
executives. Number of associates in A is 48 less than the same in B. Ratio of associates in C and D is 5:4 respectively.
Number of associates in C is 200 more than number of executives in C. Number of associates in A is 20% more
than same in D and total number of in B is 28 less than the same in C. Average number of associate in D and B
together is 420. Number of associates in A is 8% more than number of executives . Ratio of total number of

marketers in D and A is 5:8 respectively.

Question No. 61
What is the ratio of number of executives in B and C respectively?
Options:

1.3:2

2.7:6
3.5:7
4.5:6

5.11:7
Answer : 5:6

Direction:

Answer the questions based on the information given below.

In four different marketing agencies, there are two distinct roles within digital marketing: associates and
executives. Number of associates in A is 48 less than the same in B. Ratio of associates in C and D is 5:4 respectively.
Number of associates in C is 200 more than number of executives . Number of associates in A is 20% more than
same in D and total number of in B is 28 less than the same in C. Average number of associate in D and B together
is 420. Number of associates in A is 8% more than number of executives . Ratio of total number of marketers in D

and A is 5:8 respectively.

Question No. 62
What is the number of executives in A?

Options:
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1.300
2.250
3.350
4.700

5. 400
Answer : 400

Direction:

Answer the questions based on the information given below.

In four different marketing agencies, there are two distinct roles within digital marketing: associates and
executives. Number of associates in A is 48 less than the same in B. Ratio of associates in C and D is 5:4 respectively.
Number of associates in C is 200 more than number of executives . Number of associates in A is 20% more than
same in D and total number of in B is 28 less than the same in C. Average number of associate in D and B together
is 420. Number of associates in A is 8% more than number of executives . Ratio of total number of marketers in D

and A is 5:8 respectively.

Question No. 63

Total number of digital marketers in D is approximately how much percent more/less than the same in C?
Options:

1.18%

2.14.2%
3.257%
4.10.2%

5.20%
Answer : 25.7%

Direction:

Answer the questions based on the information given below.

In four different marketing agencies, there are two distinct roles within digital marketing: associates and
executives. Number of associates in A is 48 less than the same in B. Ratio of associates in C and D is 5:4 respectively.

Number of associates in C is 200 more than number of executives . Number of associates in A is 20% more than
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same in D and total number of in B is 28 less than the same in C. Average number of associate in D and B together
is 420. Number of associates in A is 8% more than number of executives . Ratio of total number of marketers in D

and A is 5:8 respectively.

Question No. 64
What is the difference between number of associates and executives in B?
Options:

1.288
2.278
3.238
4.270

5.255
Answer : 288

Direction:

Answer the questions based on the information given below.

In four different marketing agencies, there are two distinct roles within digital marketing: associates and
executives. Number of associates in A is 48 less than the same in B. Ratio of associates in C and D is 5:4 respectively.
Number of associates in C is 200 more than number of executives . Number of associates in A is 20% more than
same in D and total number of in B is 28 less than the same in C. Average number of associate in D and B together
is 420. Number of associates in A is 8% more than number of executives . Ratio of total number of marketers in D

and A is 5:8 respectively.
Question No. 65
What is the average number of digital marketers in all four agencies together?

Options:

1. 621
2.631

3.681
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4.671

5. 641
Answer : 681

Direction:

Study the following information car efully and answer the questions given below it.

There are eight friends namely A, B, C, D, E, F, G and H were born in different months of same year but not
necessarily in same order. They were born in month viz. January, April, June and August on two different dates §h

or ZOth.

H was not born before B. Only one person was born between Hand G. Both Hand G were born in month which has
30 days. Only one person was born between H and F. Three persons were born between C and E. Neither E nor C
was born in June. D was born in January. B was born on date 20th of a month. G was born after E but before C. B

was not born in June.

Question No. 66
When was F born?
Options:

1. 5th January
2.20th August
3. 5th August
4.20th January

5. None of these
Answer : 20th August

Direction:

Study the following information carefully and answer the questions given below it.

There are eight friends namely A, B, C, D, E, F, G and H were born in different months of same year but not
necessarily in same order. They were born in month viz. January, April, June and August on two different dates gh

or 20t
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H was not born before B. Only one person was born between Hand G. Both Hand G were born in month which has
30 days. Only one person was born between H and F. Three persons were born between C and E. Neither E nor C
was born in June. D was born in January. B was born on date 20”‘ of a month. G was born after E but before C. B

was not born in June.

Question No. 67
How many persons were born between D and G?
Options:

1. One
2.Two
3.Three
4. Four

5. None of these
Answer : Two

Direction:
Study the following information carefully and answer the questions given below it.

There are eight friends namely A, B, C, D, E, F, G and H were born in different months of same year but not
necessarily in same order. They were born in month viz. January, April, June and August on two different dates gh

or 20th.

H was not born before B. Only one person was born between Hand G. Both Hand G were born in month which has
30 days. Only one person was born between H and F. Three persons were born between C and E. Neither E nor C
was born in June. D was born in January. B was born on date 20th of a month. G was born after E but before C. B
was not born in June.

Question No. 68

Who born on 20th June?

Options:
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1.B

2.A
3.G
4.C

5.H
Answer : H

Direction:

Study the following information carefully and answer the questions given below it.

There are eight friends namely A, B, C, D, E, F, G and H were born in different months of same year but not
necessarily in same order. They were born in month viz. January, April, June and August on two different dates §h

or ZOth.

H was not born before B. Only one person was born between Hand G. Both Hand G were born in month which has
30 days. Only one person was born between H and F. Three persons were born between C and E. Neither E nor C
was bornin June. D was born in January. B was born on date Zoth of a month. G was born after E but before C. B

was not born in June.
e Question No. 69
Who was born immediately before A?

Options:

1B
2.C
3.G
4.E

5. None of these
Answer: G

Direction:
Study the following information car efully and answer the questions given below it.
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There are eight friends namely A, B, C, D, E, F, G and H were born in different months of same year but not
necessarily in same order. They were born in month viz. January, April, June and August on two different dates 5th

or 20th.

H was not born before B. Only one person was born between Hand G. Both Hand G were born in month which has
30 days. Only one person was born between H and F. Three persons were born between C and E. Neither E nor C
was born in June. D was born in January. B was born on date ZOth of a month. G was born after E but before C. B

was not born in June.

Question No. 70

Four of the following five are alike in a certain way to form a group. Find the one which does not belongs to the

group?
Options:

1A
2.F
3.H
4.B

5G
Answer: A

Direction:
Read the directions car efully and answer the following questions:
Seven persons O, P, Q, R, S, T, and U are sitting in a row all facing north not necessarily in the same order and each

of them like different actor among Sheetal, Shalini, Pratima, Kritika, Harshita, Ishita, and Namita.

Three people are sitting between the one who likes Ishita and the one who likes Harshita. T and S are immediate
neighbours of P. Q sits to the immediate left of O and fourth to the right of R. P likes Shalini and equal number of
people are sitting to both sides of P. The one who likes Namita and the one who likes Kritika sit on the ends of the
row. The one who likes Pratima sits second to the left of the one who likes Namita. T likes Pratima and sits second

to the right of the one who likes Sheetal. The one who likes Harshita is an immediate neighbour of Sheetal.
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e Question No. 71
Who among the following sits third to the right of one who sits immediate left of the one who likes Pratima?
Options:

1.0
2.Q
3T
4.P

5.S
Answer: O

Direction:
Read the directions car efully and answer the following questions:
Seven persons O, P, Q, R, S, T, and U are sitting in a row all facing north not necessarily in the same order and each

of them like different actor among Sheetal, Shalini, Pratima, Kritika, Harshita, Ishita, and Namita.

Three people are sitting between the one who likes Ishita and the one who likes Harshita. T and S are immediate
neighbours of P. Q sits to the immediate left of O and fourth to the right of R. P likes Shalini and equal number of
people are sitting to both sides of P. The one who likes Namita and the one who likes Kritika sit on the ends of the
row. The one who likes Pratima sits second to the left of the one who likes Namita. T likes Pratima and sits second

to the right of the one who likes Sheetal. The one who likes Harshita is an immediate neighbour of Sheetal.
e Question No. 72
Who among the following sits third to the left of the one who likes Shalini?

Options:

1.0
2.Q
3.7

4.p

5U
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Answer : U

Direction:
Read the directions car efully and answer the following questions:
Seven persons O, P, Q, R, S, T, and U are sitting in a row all facing north not necessarily in the same order and each

of them like different actor among Sheetal, Shalini, Pratima, Kritika, Harshita, Ishita, and Namita.

Three people are sitting between the one who likes Ishita and the one who likes Harshita. T and S are immediate
neighbours of P. Q sits to the immediate left of O and fourth to the right of R. P likes Shalini and equal number of
people are sitting to both sides of P. The one who likes Namita and the one who likes Kritika sit on the ends of the
row. The one who likes Pratima sits second to the left of the one who likes Namita. T likes Pratima and sits second

to the right of the one who likes Sheetal. The one who likes Harshita is an immediate neighbour of Sheetal.

Question No. 73
Which of the following represents the pair who likes Harshita and Pratima respectively?
Options:

1. TR

2.U0
3.RQ
4.RT

5. None of these
Answer : RT

Direction:
Read the directions car efully and answer the following questions:
Seven persons O, P, Q, R, S, T, and U are sitting in a row all facing north not necessarily in the same order and each

of them like different actor among Sheetal, Shalini, Pratima, Kritika, Harshita, Ishita, and Namita.

Three people are sitting between the one who likes Ishita and the one who likes Harshita. T and S are immediate
neighbours of P. Q sits to the immediate left of O and fourth to the right of R. P likes Shalini and equal number of
people are sitting to both sides of P. The one who likes Namita and the one who likes Kritika sit on the ends of the

row. The one who likes Pratima sits second to the left of the one who likes Namita. T likes Pratima and sits second
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to the right of the one who likes Sheetal. The one who likes Harshita is an immediate neighbour of Sheetal.

e Question No.74
Which of the following sits exactly in between of the one who likes Shalini and the one who likes Ishita?
Options:

1P

2.Q
3. The one who likes Namita
4. The one who likes Sheetal

5. The one who likes Pratima
Answer : The one who likes Pratima

Direction:
Read the dir ections car efully and answer the following questions:
Seven persons O, P, Q, R, S, T, and U are sitting in a row all facing north not necessarily in the same order and each

of them like different actor among Sheetal, Shalini, Pratima, Kritika, Harshita, Ishita, and Namita.

Three people are sitting between the one who likes Ishita and the one who likes Harshita. T and S are immediate
neighbours of P. Q sits to the immediate left of O and fourth to the right of R. P likes Shalini and equal number of
people are sitting to both sides of P. The one who likes Namita and the one who likes Kritika sit on the ends of the
row. The one who likes Pratima sits second to the left of the one who likes Namita. T likes Pratima and sits second

to the right of the one who likes Sheetal. The one who likes Harshita is an immediate neighbour of Sheetal.
e Question No. 75
Who among the following likes Harshita?

Options:

1.U

2.R

3.Q
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4. Can’t be determined

5. None of these

Answer: R

e Question No.76

In the question below some statements ar e given followed by three conclusionsl|, 11, and I11. You haveto take the
given statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions

and then decide which of the given conclusion definitely follows from the given statements, disr egar ding commonly
known facts.

Statements:

Some Hammer are Screw.
All Bolt are Screw.

No Screw are Nail.
Conclusions:

I. No Bolt is Nail.

Il. Some Screw are Bolt.
Ill. Some Nail are Hammer.
Options:

1. Only Conclusion I and Il follow
2. Only Conclusion Il and IlI follow
3. Only Conclusion | and Il follow
4. All the Conclusions follow

5.

Answer : Only Conclusion | and Il follow

e Question No. 77
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In the question below some statements ar e given followed by three conclusions|, 11, and I11. You haveto take the

given statementsto be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusion definitely follows from the given statements, disregarding commonly
known facts.

Statement:

Some Papaya are Banana.

All Apple are Pear.

No Apple is Banana.
Conclusions:

|. Some Papaya are Pear.

Il. Some Papaya are not Apple.
Ill. Some Banana are Pear.
Options:

1. Only conclusion | follows

2. Only conclusion | and Il follow
3. Only conclusion Il follows

4. Only conclusion | and llI follow

5.

Answer : Only conclusion Il follows

Question No. 78

Read the given statements and conclusions car efully. Assuming that the information given in the statementsistrue,
even if it appearsto be at variance with commonly known facts, decide which of the given conclusions logically
follow(s) from the statements.

Statements
No nose is a hand.

No hand is a leg.
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All knees are hands.
Conclusions

I. No knee is a nose.
I1. No knee is a leg.
Options:

1. Both the conclusions follow

2. Only conclusion Il follows

3. Only conclusion | follows

4. None of the conclusions follow

5.
Answer : Both the conclusions follow

Direction:

Given below arefour statementswhich arefollowed by four conclusionsnumbered I, 11, 111 and IV. Assuming the
statementsto betrue, even if they are at variance with commonly known facts, decide which of the conclusions
logically follow.

Question No. 79

Statements:

All Apple are Banana.
Some Carrot are Orange.
No Banana is a Carrot.

All Orange are Mango.

Conclusions:
I. Some Carrot are Apple.
Il. Some Banana are Apple.

Ill. Some Orange are Banana.
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IV. Some Mango are Carrot
Options:

1. Only Conclusions Il follows

2. Both Conclusions Il and IV follow
3. Only Conclusions IV follows

4. Only Conclusions I, Il and IV follow

5. Only Conclusions |, Il and 1l follow
Answer : Both Conclusions Il and IV follow

Direction:
Study the following information carefully to answer the given questions bel ow-:
M is father of N and P. U is mother of O. J is son of N. J is the only brother of O. U is daughter in law of T. T has only

one daughter and one son.

e Question No. 80
How is M related to O?
Options:

1. Grandmother
2. Granddaughter
3. Grandfather

4. Grandson

5. None of these
Answer : Grandfather

Direction:

In each of the questions below ar e given some statements followed by two conclusions. You have to take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregarding commonly
known facts.

e Question No. 81
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Statements: G>H > ;|
Conclusion I: G > K Il:L>H
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows.

4. If neither conclusion I nor Il follows.

5. If both conclusions | and Il follow.
Answer : If neither conclusion | nor Il follows.

Direction:

I'n each of the questions below ar e given some statements followed by two conclusions. You have to take the given
statementsto betrue even if they seem to beat variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements disregar ding commonly
known facts.

e Question No. 82
Statements: A>B=C=D=sE,D=sF=G
Conclusion I: A>D l:B=F
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows.

4. If neither conclusion I nor Il follows.

5. If both conclusions | and Il follow.

Answer : If only conclusion | follows.

e Question No. 83

Statements. EsF=G=H=I|,M
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Conclusion:
LlI=sL
I.1>M
HNn.e=1J
Options:

1. Both conclusion I and IlI follows

2. If only conclusion Il follows

3. if either conclusion | or conclusion Il follow
4. if neither conclusion follow

5. All follow
Answer : If only conclusion Il follows

Direction:

In these questions, relationships between different elements are shown in the statements. These statementsare
followed by three conclusions. Give answer

Question No. 84

Statementss D>C=A=B=F, G=K

Conclusion:

.D>G
I.C>G
Nn.K=B
Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3.if either conclusion | or conclusion Il follow

4. if neither conclusion | nor conclusion Il follow
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5. if both conclusions | and Il follow

Answer : if both conclusions | and Il follow

e Question No. 85

Select from four alternative diagrams, the one that best illustrates the relationship among the three classes.

Jewelry, Gold, and Platinum.

@,
OO0

(1) 2) (3) 4)

Options:

1.1)

2.2)
3.3)
4.4)

5. None of these
Answer : 1)

Direction:

Answer the questions based on the information given below.

There are six boxes (A, B, C, D, E and F) kept one above the other, such that bottommost box is numbered as 1, and
box above it is numbered as 2 and so on. Each box contains different Items namely, Toys, Bottles, Perfumes,
Laptops, Mobiles and Bats, but not necessarily in the same order. There are only two boxes kept between B, which
contains Toys, and F, which contains Mobiles. F is kept immediately above D, which is even numbered box. There is
only one box kept between D and the box, which contains Bottles. Box, which contains Perfumes, is kept
immediately above the box, which contains Laptops. A contains Bats. E is kept above C. There are at least two

boxes kept between C and A.
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e Question No. 86
How many boxes are below the box, which contains Perfumes?
Options:

1. One
2. Two
3. Three
4. Four

5. None of the above
Answer : One

Direction:

Answer the questions based on theinformation given below.

There are six boxes (A, B, C, D, E and F) kept one above the other, such that bottommost box is numbered as 1, and
box above it is numbered as 2 and so on. Each box contains different ltems namely, Toys, Bottles, Perfumes,
Laptops, Mobiles and Bats, but not necessarily in the same order. There are only two boxes kept between B, which
contains Toys, and F, which contains Mobiles. F is kept immediately above D, which is even numbered box. There is
only one box kept between D and the box, which contains Bottles. Box, which contains Perfumes, is kept
immediately above the box, which contains Laptops. A contains Bats. E is kept above C. There are at least two

boxes kept between C and A.
e Question No. 87
How many boxes are between box A and the box, which contains Laptops?

Options:

1. Zero
2.0ne
3. Two
4.Three

5. None of the above
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Answer : Three

Direction:

Answer the questions based on the information given below.

There are six boxes (A, B, C, D, E and F) kept one above the other, such that bottommost box is numbered as 1, and
box above it is numbered as 2 and so on. Each box contains different ltems namely, Toys, Bottles, Perfumes,
Laptops, Mobiles and Bats, but not necessarily in the same order. There are only two boxes kept between B, which
contains Toys, and F, which contains Mobiles. F is kept immediately above D, which is even numbered box. There is
only one box kept between D and the box, which contains Bottles. Box, which contains Perfumes, is kept
immediately above the box, which contains Laptops. A contains Bats. E is kept above C. There are at least two

boxes kept between C and A.

Question No. 88
How many boxes are below the box, which contains Bottles?
Options:

1.One
2. Three
3. Four
4. Five

5. None of the above
Answer : Three

Direction:

Answer the questions based on the information given below.

There are six boxes (A, B, C, D, E and F) kept one above the other, such that bottommost box is numbered as 1, and
box above it is numbered as 2 and so on. Each box contains different ltems namely, Toys, Bottles, Perfumes,
Laptops, Mobiles and Bats, but not necessarily in the same order. There are only two boxes kept between B, which
contains Toys, and F, which contains Mobiles. F is kept immediately above D, which is even numbered box. There is
only one box kept between D and the box, which contains Bottles. Box, which contains Perfumes, is kept
immediately above the box, which contains Laptops. A contains Bats. E is kept above C. There are at least two

boxes kept between C and A.
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e Question No. 89
Which of the following box contains Perfumes?
Options:

1A
2.B
3.C
4.D

5.E
Answer : D

Direction:
Answer the questions based on the information given below.

There are six boxes (A, B, C, D, E and F) kept one above the other, such that bottommost box is numbered as 1, and
box above it is numbered as 2 and so on. Each box contains different ltems namely, Toys, Bottles, Perfumes,
Laptops, Mobiles and Bats, but not necessarily in the same order. There are only two boxes kept between B, which
contains Toys, and F, which contains Mobiles. F is kept immediately above D, which is even numbered box. There is
only one box kept between D and the box, which contains Bottles. Box, which contains Perfumes, is kept

immediately above the box, which contains Laptops. A contains Bats. E is kept above C. There are at least two

boxes kept between C and A.

e Question No. 90
Which of the following box is kept at the topmost position?
Options:

1A
2.B
3.C
4.D

5.E
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Answer: B

Direction:
Point S is 8m to the west of Point Q, which is 9m to the south of Point P. Point T is 7m to the north of Point U,
which is 3m to the east of Point V. Point V is 3m to the south of Point P. Point R is exactly in the middle of Points S

and Q.

Question No. 91
Find the shortest distance between points S and V?
Options:

1.8m

2.12m
3.10m
4.15m

5. Can't be determined
Answer : 10m

Direction:
Point S is 8m to the west of Point Q, which is 9m to the south of Point P. Point T is 7m to the north of Point U,
which is 3m to the east of Point V. Point V is 3m to the south of Point P. Point R is exactly in the middle of Points S

and Q.
Question No. 92
If point W is 6m to the north of point R, then find the distance between point W and point U?

Options:

1.5m
2.7m
3.12m

4.8m
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5. None of these
Answer :7m

Direction:
Point S is 8m to the west of Point Q, which is 9m to the south of Point P. Point T is 7m to the north of Point U,
which is 3m to the east of Point V. Point V is 3m to the south of Point P. Point R is exactly in the middle of Points S

and Q.

e Question No. 93

Four of the following five are alike in a certain way and thus form a group. Which of the following does not belong

to the group?
Options:

1.Q-V
2.Q-R
3.R-S
4.V-U

5P-T
Answer:P-T

Direction:
Study the following information carefully and answer the questions given below:

In acertain code:

"Now decode all these" is coded as "ab ey pf ju"
"All our friends bought" is coded as "kd cn ab mi"
"Bought these from markets" is coded as "ey ra ho kd"

"Friends from school is coded as "ho vx cn

e Question No. 94



Which of the following is the code for "These markets"?

Options:

1.pfra

2.ey kd
3.eyra
4.abra

5. None of these

Answer:eyra

Direction:
Study the following information carefully and answer the questions given below:

In acertain code:

"Now decode all these" is coded as "ab ey pf ju"

"All our friends bought" is coded as "kd cn ab mi"

"Bought these from markets" is coded as "ey ra ho kd"

"Friends from school is coded as "ho vx cn

Question No. 95

Which of the following is the code for “Now our school?

Options:

1. pf mi vx
2. pf fab vx
3. mi vx kd
4. ju mi vx

5. Either (a) or (d)

Answer : Either (a) or (d)

Direction:

ixam

0‘6
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Read the following information carefully to answer the questions given below.

Nine people viz. A, M, C, N, E, O, G, P and H live in a building on nine different floors. The ground floor is numbered
as 1, the floor just above it is numbered as 2 and so on till top floor which is numbered as 9 (but not necessarily in
the same order). They all go to different cities i.e. Bangalore, Dehradun, Lucknow, Haridwar, Indore, Patna, Agra,
Meerut, Punjab. Two persons are living between O and G who does not go to Punjab. The one who goes to Indore
lives immediately above the one who goes to Meerut. E does not go to Indore and Meerut and is not living on even
numbered floor. C is living at one of the floors above N but does not go to Bangalore. The one who goes to
Haridwar is living on an even numbered floor below N. A does not live on an odd numbered floor but is immediately
above the one who goes to Punjab. The number of persons living above the one who goes to Lucknow is the same
as the number of persons living below the one who goes to Agra. Three persons are living above N. No one is living
above the one who goes to Bangalore. Three persons are living between E and P, who goes to Lucknow and living

at one of the floors above E. The one who goes to Patna is living at the floor number 2. H does not go to Meerut.

Question No. 96
How many persons are living between H and the one who goes to Indore?
Options:

1. Three
2.0ne
3. Four
4. Two

5. None of these
Answer : Two

Direction:

Read the following information carefully to answer the questions given below.

Nine people viz. A, M, C, N, E, O, G, P and H live in a building on nine different floors. The ground floor is numbered
as 1, the floor just above it is numbered as 2 and so on till top floor which is numbered as 9 (but not necessarily in
the same order). They all go to different cities i.e. Bangalore, Dehradun, Lucknow, Haridwar, Indore, Patna, Agra,
Meerut, Punjab. Two persons are living between O and G who does not go to Punjab. The one who goes to Indore

lives immediately above the one who goes to Meerut. E does not go to Indore and Meerut and is not living on even
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numbered floor. C is living at one of the floors above N but does not go to Bangalore. The one who goes to
Haridwar is living on an even numbered floor below N. A does not live on an odd numbered floor but is immediately
above the one who goes to Punjab. The number of persons living above the one who goes to Lucknow is the same
as the number of persons living below the one who goes to Agra. Three persons are living above N. No one is living
above the one who goes to Bangalore. Three persons are living between E and P, who goes to Lucknow and living

at one of the floors above E. The one who goes to Patna is living at the floor number 2. H does not go to Meerut.

Question No. 97
Who amongst the following go to Dehradun?
Options:

1 H
2.P
3M
4.C

5. None of these
Answer: C

Direction:

Read the following information carefully to answer the questions given below.

Nine people viz. A, M, C, N, E, O, G, P and H live in a building on nine different floors. The ground floor is numbered
as 1, the floor just above it is numbered as 2 and so on till top floor which is numbered as 9 (but not necessarily in
the same order). They all go to different cities i.e. Bangalore, Dehradun, Lucknow, Haridwar, Indore, Patna, Agra,
Meerut, Punjab. Two persons are living between O and G who does not go to Punjab. The one who goes to Indore
lives immediately above the one who goes to Meerut. E does not go to Indore and Meerut and is not living on even
numbered floor. C is living at one of the floors above N but does not go to Bangalore. The one who goes to
Haridwar is living on an even numbered floor below N. A does not live on an odd numbered floor but is immediately
above the one who goes to Punjab. The number of persons living above the one who goes to Lucknow is the same
as the number of persons living below the one who goes to Agra. Three persons are living above N. No one is living
above the one who goes to Bangalore. Three persons are living between E and P, who goes to Lucknow and living

at one of the floors above E. The one who goes to Patna is living at the floor number 2. H does not go to Meerut.
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e Question No. 98
Four of the following five belong to a certain group. Which of the following does not belong to the group?
Options:

1. C-Bangalore
2. N-Indore

3. P-Dehradun
4. G-Meerut

5. None of these
Answer : N-Indore

Direction:

Read the following information carefully to answer the questions given below.

Nine people viz.A, M, C, N, E, O, G, P and H live in a building on nine different floors. The ground floor is numbered
as 1, the floor just above it is numbered as 2 and so on till top floor which is numbered as 9 (but not necessarily in
the same order). They all go to different cities i.e. Bangalore, Dehradun, Lucknow, Haridwar, Indore, Patna, Agra,
Meerut, Punjab. Two persons are living between O and G who does not go to Punjab. The one who goes to Indore
lives immediately above the one who goes to Meerut. E does not go to Indore and Meerut and is not living on even
numbered floor. C is living at one of the floors above N but does not go to Bangalore. The one who goes to
Haridwar is living on an even numbered floor below N. A does not live on an odd numbered floor but is immediately
above the one who goes to Punjab. The number of persons living above the one who goes to Lucknow is the same
as the number of persons living below the one who goes to Agra. Three persons are living above N. No one is living
above the one who goes to Bangalore. Three persons are living between E and P, who goes to Lucknow and living

at one of the floors above E. The one who goes to Patna is living at the floor number 2. H does not go to Meerut.
e Question No. 99
Which of the following city G goes?

Options:

1. Haridwar
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2. Meerut
3. Punjab
4. Agra

5. None of these
Answer : Haridwar

Direction:

Read the following information carefully to answer the questions given below.

Nine people viz. A, M, C, N, E, O, G, P and H live in a building on nine different floors. The ground floor is numbered
as 1, the floor just above it is numbered as 2 and so on till top floor which is numbered as 9 (but not necessarily in
the same order). They all go to different cities i.e. Bangalore, Dehradun, Lucknow, Haridwar, Indore, Patna, Agra,
Meerut, Punjab. Two persons are living between O and G who does not go to Punjab. The one who goes to Indore
lives immediately above the one who goes to Meerut. E does not go to Indore and Meerut and is not living on even
numbered floor. C is living at one of the floors above N but does not go to Bangalore. The one who goes to
Haridwar is living on an even numbered floor below N. A does not live on an odd numbered floor but is immediately
above the one who goes to Punjab. The number of persons living above the one who goes to Lucknow is the same
as the number of persons living below the one who goes to Agra. Three persons are living above N. No one is living
above the one who goes to Bangalore. Three persons are living between E and P, who goes to Lucknow and living

at one of the floors above E. The one who goes to Patna is living at the floor number 2. H does not go to Meerut.
e Question No. 100
Which of the following statement is true regarding M?

Options:

1. G is living immediately above M.

2. M is not living on an odd numbered floor.

3. Only two floors are there between M and P.
4. M is living on floor numbered 4

5.None is true

Answer : None is true
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